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Question 1

23500M35¢90 B3SO0 !
Select one:

a. 1
b. 4
c. 16
d. -8

Question 2
z = cosmL
T 2r—y b 300L §939¢0L FaOEHowms bodmagwngs:

Select one:

a. ¥ = 2T ooy

b. ¥ =% fo%9

— 1
c. ¥ = 72 gogy
d. ¥ = =T gogg
Question 3

z=z° — yz + -’Ezy B64300L 39MAm FoMdmgdyemo T (330500 SOOL:
Select one:

a =2y +2°

b. 322 + 2xy

& _yg + 27

g. 3% — 2y

Question 4

f 12—£ dr dmb0369go LMo 3sbvbo
Select one:

a. 2arcsinx+c

b. 2arctg+c

C. 2arcctgx+c


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=z%3Dcos%5Cfrac%7Bx%2By%7D%7B2x-y%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=y%3D2x
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=y%3Dx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=y%3D-%5Cfrac%7B1%7D%7B2%7Dx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=y%3D-x
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=z%3Dx%5E3-y%5E2%2Bx%5E%7B2%7Dy
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=x
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=-2y%2Bx%5E%7B2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3x%5E%7B2%7D%2B2xy
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=-y%5E%7B2%7D%2Bx%5E2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3x%5E2-2y
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint%20%5Cfrac%7B2%7D%7B%5Csqrt%7B1-x%5E2%7D%7Ddx
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d. 2arccosx+c

Question b

f 2e"dr 9mbodbgm LmMo 3sLwbo
Select one:

a.€” t+c

b.e " +c

c.2e" + C

d. —€" +¢

Questjon 6

[ emde 3060369, Lmeo 3sbrbo
Select one:

a. 3sinx+c

b. 3cosx+c

C. 2ctgx+c

d. 3tgx+c

Question 7

[ Teoszdx 80036 Lo 3sbegbo
Select one:

a. Tctgr + ¢

b. Tsinr + ¢

¢ Ttgz + ¢

d.cosir+ ¢

Question 8

14} dr
I+22 ™ 9060369, Lfm®o 3slgbo

Select one:

a. l0arecsinx + ¢
b. larcigz 4 ¢
c. 10arccosx + ¢
d. Warcctgz + ¢

Question 9

[ ide
& dmbodbgm LmMo 3sLwmbo


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint%202e%5Exdx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=e%5Ex%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=e%5E%7B-x%7D%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=2e%5Ex%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=-e%5Ex%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint%20%5Cfrac%7B3%7D%7Bcos%5E2x%7Ddx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint%207cosx%20dx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=7ctgx%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=7sinx%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=7tgx%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=cos7x%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint%20%5Cfrac%7B10%7D%7B1%2Bx%5E2%7Ddx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10arcsinx%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10arctgx%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10arccosx%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10arcctgx%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint%20%5Cfrac%7B4%7D%7Bx%7Ddx

TN

TN

TN

TN

Select one:
a. —4dr +c
b. 4ln|z| + ¢

4

C.F‘I'C
4

= t¢

Question 10
960869, Lfmeo 3sbwgbo J(2x — 3) sin xdz

Select one:
3 (22 —3)sinz + 2cosx + ¢

b. —(2z — 3)sinz + 2cosz + ¢
c.(2x — 3)cosz — 2sinz + ¢
d. —(2-?3—3) cosr + 2sinx + ¢

Question 11
4x

] = 30603690 Lfmco 3sbugbo
Select one:

a. -In|x-1]+3In|x+3|+C

b. In|x-1]+3In|x+3|+C

C. In|x-1]+2In|x+3|+C

d. 2In|x-1|+3In|x+3|+C

Question 12

VT 2
Answer:l
Question 13

©55020b9m, 3609350005 M) gobdeoEO f 1+GG g_:; 365L539M030 063HJMIO,
369950000l Jg8mnb3z935d0 2odmm35egom dolo 9603369 mds.

Select one:

a. -2

b. -1

c. 2

d. 1


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=-%7B4%7D%7Bx%7D%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=4ln%7Cx%7C%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B4%7D%7Bx%5E3%7D%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B4%7D%7Bx%5E2%7D%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint%20%282x-3%29%5Csin%20xdx%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%282x-3%29%5Csin%20x%2B2%5Ccos%20x%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=-%282x-3%29%5Csin%20x%2B2%5Ccos%20x%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%282x-3%29%5Ccos%20x-2%5Csin%20x%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=-%282x-3%29%5Ccos%20x%2B2%5Csin%20x%2Bc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint%7B%5Cfrac%7B4x%7D%7B%5Cleft%28x-1%5Cright%29%28x%2B3%29%7Ddx%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint_%7B0%7D%5E%7B%5Csqrt%7B%5Cpi%7D%7D%7Bx%20%5Ccdot%20cosx%5E2dx%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint_%7B1%7D%5E%7B%2B%5Cinfty%7D%20%5Cfrac%7Bdx%7D%7Bx%5E2%7D
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Question 14
E(Tz + 1)

podmmgogom y=V T , Y=0, x=0, x=1 fo6gd00 53mlLsbmzthyco
5303M0L AT gMdol gomdgdm 36Mmbgoo domgdwero bgwol ImEErmds
Select one:

a. 14

b. 16

c. 18

d. 20

Question 15

Fais 0bOgpOo,

Loo3 L séou 22 — 1 §OR0L Imb5339000 29bLEBOZMHVYO —1<z<2 306HMO0M

390mm35eg0 306390 335M0L foHomo f L(

Select one:
a.
b.
C.
d.

Question 16

[ 12zydz + (12 — 24y)dy
3°0mm3z5egm dgmeg 335m0L foMomo 0b@gacowo L , boog L

56006 ¥ = T 35650m@ol G350 A(-1;1) Fao@owowsb B(0;0) Gao@owmsdog:
Select one:

a. 0

b. -12

c. -19

d. 17


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Csqrt%7B%5Cfrac%7B15%7D%7B%5Cpi%7D%28x%5E2%2B1%29%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=ox
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint_L%28x%2By%29ds
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=L
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=2x-1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=-1%5Cle%20x%20%5Cle2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B3%5Csqrt%7B2%7D%7D%7B5%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B2%5Csqrt%7B3%7D%7D%7B5%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B5%5Csqrt%7B3%7D%7D%7B2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B3%5Csqrt%7B5%7D%7D%7B2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint%5Climits_%7BL%7D12xydx%2B%2812x-24y%29dy
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=y%3Dx%5E2

